



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(4 - \frac{1}{4}\right)^2 - \frac{1}{4} + 2^2 \times \frac{1}{4} =$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 - \frac{1}{3}\left(\frac{2}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{6} + \frac{3}{5}\right)^2 + \frac{3}{4}\left(\frac{1}{2} - \frac{2}{3}\right) =$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{2}{3} - \frac{1}{6}\right) =$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 + \frac{1}{6}\left(\frac{3}{4} - \frac{1}{3}\right) =$$

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{3} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{3}{2} + \frac{1}{2}\right)^2 - \frac{2}{5}\left(\frac{2}{3} + \left(\frac{3}{2}\right)^2\right) =$$

$$\left(\frac{1}{6} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{2} - \frac{3}{2}\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{2}{3}\right) \times \frac{3}{2} + \left(\frac{3}{2} - \frac{1}{6}\right)^2 =$$

$$\left(3 - \frac{1}{5}\right)^2 + \frac{2}{5} \times \frac{3}{2} + 2^2 =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(4 - \frac{1}{4})^2 - \frac{1}{4} + 2^2 \times \frac{1}{4} = \frac{237}{16} = 14\frac{13}{16}$$

$$(\frac{1}{2} - \frac{3}{2})^2 - \frac{1}{3}(\frac{2}{5} + (\frac{1}{2})^2) = \frac{47}{60}$$

$$(\frac{1}{6} + \frac{3}{5})^2 + \frac{3}{4}(\frac{1}{2} - \frac{2}{3}) = \frac{833}{1800}$$

$$(\frac{1}{4} - \frac{1}{2})^2 + \frac{1}{2}(\frac{2}{3} - \frac{1}{6}) = \frac{5}{16}$$

$$(\frac{1}{2} + \frac{3}{5})^2 + \frac{1}{6}(\frac{3}{4} - \frac{1}{3}) = \frac{2303}{1800} = 1\frac{503}{1800}$$

$$(\frac{3}{5} - \frac{1}{2})^2 + \frac{1}{2}(\frac{1}{3} - (\frac{2}{5})^2) = \frac{29}{300}$$

$$(\frac{3}{2} + \frac{1}{2})^2 - \frac{2}{5}(\frac{2}{3} + (\frac{3}{2})^2) = \frac{17}{6} = 2\frac{5}{6}$$

$$(\frac{1}{6} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{2} - \frac{3}{2}) = \frac{13}{36}$$

$$((\frac{3}{2})^2 + \frac{2}{3}) \times \frac{3}{2} + (\frac{3}{2} - \frac{1}{6})^2 = \frac{443}{72} = 6\frac{11}{72}$$

$$(3 - \frac{1}{5})^2 + \frac{2}{5} \times \frac{3}{2} + 2^2 = \frac{311}{25} = 12\frac{11}{25}$$